
 G-100
Перечень комплектующих

№ Описание Спецификация Кол-во, шт

1 Рама основная 1
2 Опора передняя/задняя 1
3 Подушка спинки 1
4 Пластина 2
5 Фиксатор 2
6 Заглушка 4
7 Болт с квадратным подголовником M8×55 3
8 Болт шестигранный M8×20 6
9 Шайба M8 9
10 Гайка  M8 3
11 Заглушка 38×38 2
12 Втулка 2
13 Ключ гаечный 13-15 1



  G-100
Подетальная схема трёнажера


